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° Watch Video Solution
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o Watch Video Solution
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https://dl.doubtnut.com/l/_Ury7J1RL5FxB
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https://dl.doubtnut.com/l/_mgdFiTjGYTLz
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° Watch Video Solution
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o Watch Video Solution
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Answer:

° Watch Video Solution
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Answer:

° Watch Video Solution
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Answer:

o Watch Video Solution
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B. 3.5cm

C.9cm

D. 1cm

Answer:

° Watch Video Solution
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https://dl.doubtnut.com/l/_0fDv4aB8lBJY
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https://dl.doubtnut.com/l/_nfb8YPoZxSoY
https://dl.doubtnut.com/l/_CzttnjIWU8OI
https://dl.doubtnut.com/l/_vd16dyzwaIWw

35, Ao 8 T Y& 3000 BB 8 5000
Bt g 9o I BF FaaTl 6 I 9@

Ao &1d8 4000 Bt e, &7 6 T A@

SAT 1000 BIBT Qret fAeT| AFI=E 6175 BId! Al

(] I(ed BIBT (@ Do A 125017 B (T

o Watch Video Solution
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37.x, y 9 AT AJT(SM AR z-d9 (57 I8 (S
(2| y=4, z=5 (T x=3 2, WI]IF y=16, z=30 2T,

x-J1 25717 B (@t

° Watch Video Solution



https://dl.doubtnut.com/l/_8OGLRfGFu26A
https://dl.doubtnut.com/l/_8KAXvRujEEyM

1 1 1 1
38. AT Dl: = — + — 4+ —[x
a+b+x a b T

ne 0,-(a+b)]

o Watch Video Solution
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o Watch Video Solution



https://dl.doubtnut.com/l/_S9f580nZhxWu
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https://dl.doubtnut.com/l/_yXr6S2vRDF7r
https://dl.doubtnut.com/l/_15iOz5DBqqsA
https://dl.doubtnut.com/l/_zK7GYCQmR5CP

BB for Bdl QW GUIADIBI  (SHADIF

BT 4167 Aod Ghand fHdg FEl?

° Watch Video Solution
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. = — (], sin 0 = PO?
secld — tan 6 2



https://dl.doubtnut.com/l/_EI50V7voyztP
https://dl.doubtnut.com/l/_hW91J1HTBnJ4
https://dl.doubtnut.com/l/_zZZRzFnfMQFl

\ o Watch Video Solution

84. fATITw© Bi5T 8 Fddt i IATHTE 30000 BIHT
8 50000 BIP! JAY M T S| 6 TN
I fAgIg© BIcT A8 40000 BIdBT «Ifs HAEA,

&g I Wi FPsTo WIS 1000 BIBT Qe

fATAA| 2 T T 19000 BipT &6 ot AT,

I (B, PO BIdl IS AR AT |

o Watch Video Solution



https://dl.doubtnut.com/l/_zZZRzFnfMQFl
https://dl.doubtnut.com/l/_BviU5llEyLnv

85. foaeiH @Idig I7fe 19500 BIBI, 27300 Bibt
8 15600 BIP!I ALY AT SIUAT B9 AT 9B

JI5d 99 MATAA 43200 BIPT 16 2-® | 82 AIted

2
3 QI GBIl TIH SISl 32 AfE 0T JALA
TIPE o IR fAeT| & o Bid! Ay Ay

G

o Watch Video Solution

86. x, y 99 A7 AJI(SM YYA z YIP AR z a9

A JBEM IYA y SIPly=4,z=52cT x =3


https://dl.doubtnut.com/l/_PeuAbBvw2Dv2
https://dl.doubtnut.com/l/_QZ8sCRGxHzTR

271 LAy = 16, z = 25 BYUA x 97 FIA AT I

° Watch Video Solution

87. 919 B! J(ad 2B @IAT iy, (A T 76
=5 TS~ Bl I oind = 79 7fod M=
AfE g AATSH NI 7fog Wt STl

Q32 OIdl (@ NI (ST GIEAF I

° Watch Video Solution



https://dl.doubtnut.com/l/_QZ8sCRGxHzTR
https://dl.doubtnut.com/l/_8CkrH6ZFg93j

88. A¥lT IW @F-@IAT @ fagod

TAIID 79 (AP Sfoged OO 97 OIFA

BACA, 8% AIEL 6oy ArdfFo fagogy s a3

—

32 fagor BT AP JoT faglad s |

o Watch Video Solution

89. 931 J3% BRGS ABCDI IO AB 8 DC I1eFY

IS P [Aygo @7 IE g99 Il

PA.PB = PC - PDI

o Watch Video Solution



https://dl.doubtnut.com/l/_0G6IJG2Jnbee
https://dl.doubtnut.com/l/_jTzecG7OaTu9

90. ABC a7 *I¥f3¥ A (ATP BC ITJ TAT AD &1F

BD DA
OFH W I — = — A 9T IG
[ I DA DC’Q AT @l

ABCITHIT fagal

o Watch Video Solution

91. 5.5cm, 4.5cm, 6 cm JP [T fagiod w893

ARz~ DI

° Watch Video Solution



https://dl.doubtnut.com/l/_jTzecG7OaTu9
https://dl.doubtnut.com/l/_49F4jT5ZeVmH
https://dl.doubtnut.com/l/_cbsupCtTXy2T
https://dl.doubtnut.com/l/_JvT7yzI5wMVA

92. 3cm, 4cm 8 5cm T TP A6 fAEh
G (TP Il a6 IG (hieTd (ofd BT

0T, IG (SIIADBIOI PN Fo?

o Watch Video Solution

93. X WIpfod GIIRL gfad I 21 G| T2id
Cefgetst qeot @ oo dfo oI 10 S
folitd 57.75 BIBT Y6 G| GBI THol 3
foxd Teoo! fAfT S|

o Watch Video Solution



https://dl.doubtnut.com/l/_JvT7yzI5wMVA
https://dl.doubtnut.com/l/_UTNGPdvWB3OU
https://dl.doubtnut.com/l/_DUopUKKPzzOL

94, 936 fagiod @19 foAfbd TG 2:3:4 (A
323y (BI4fod J31T TN $o?

° Watch Video Solution

95. 6(0° < 0 < 90°) a7 TN @ FWI ST

sin? #—3sinf + 2 = 0

o Watch Video Solution



https://dl.doubtnut.com/l/_DUopUKKPzzOL
https://dl.doubtnut.com/l/_3owbYBU8Bz5j

96. sinf +sin’f=1 3@ A @l

cos’ @ + cos*h =1

o Watch Video Solution



https://dl.doubtnut.com/l/_pr9a4zxIdhre

